ka+kb=kia+b)

Aire = kxa+ kxb=kx{a+b)

factoriser

ka + kb S Ko+ F)
dévalopper
Exemples

=125 x 8,04 + B7.5 = 8,04 = (12,5 + 87.5) » 8,04 = 100 x B,04 = 804
s3a+3b=3a+ b
ra-da=1xa+(-djxa={1+A)xa=-3)=a=-3a
e+ 2idc-1)=(c+ 2y dc+ o+ 2)x(-1)
Distributivita

a2+ 2ab+ b= (a + b)?

Exsmple

P+10p+ 5=y +2xy x5+ 5 =y + 5F

az-2ab+b2=(a-h)2

Signe =
~2xa=2a
caxT=Txa=Ta
hxec=be

Propriétés
de la multiplication

Simplifications d"écriture

e it
axh=hbxa=ah=ba

Table de 1
lxa=aet-1)j=xa=—a

Table de O
O=xa=0

Carré
axa=a?

a2-br={a -b)a + b)

Exempies

» ¥7 — 25 = [y — B}y + 5)
- 4857 - 9¢? = [Th - 3c)(Th + 3c)

Exemples

s P -12b + 36 = + 2 x b x[-B) + [-6F = (b -BF
8T A9 - 28 = -2+ TP+ 2 -2 x T =(T -2

axaxa=al



